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N = 0 &8 AF S & Al A
2012 20A LEHSIH SAIDHZ D ~ S AIDHE D}
SN SAIIHED
. H=0S
o2 H=0IS XA (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
SAIDHE 31,624,494 27,334,281 4,290,213
= 335,000
z 10,297,000
< 302,550
= 20,689,944
H20IS 465,300 4,618,876 A4,153,576
HEOIS KA 465,300 4,618,876 A4,153,576
ADJIES XHEBSD| 65,300 65,300 0
201 LEtRHH| 5,000 5,000 0
01 AF22t2|H] 5,000 5,000 0
Olgetx=gHl] 4,000
OZEAIIZES0ISIHRD| o2 ABE 2
g 1,000,000 » 14l 1,000
OZAIIZES0ISIHRD| otz 2882 2
= 7 200,000 = 1504 3,000
oleg+¢] 1,000
OZEADIZE20ISIHRD| EWIY
200,000& * 53 « 1A 1,000
202 o4 4| 300 300 0
01 2LHNO Y] 300 300 0
OZAIZE20ISIHRI|2EH S X EZAL=QIEH I}
(0] 20,000 * 3% * 53] 300
402 BIZEXHE0| & 60,000 60,000 0
01 BI2tXI=EE X 60,000 60,000 0
OFAIIZE20ISIIRD| 22
20,000,000& * 3JHOIS 60,000
HADSETLAY 22 400,000 1,825,040 1,425,040
401 Al S HI L 20| 400,000 1,825,040 A 1,425,040
01 A& HI 400,000 1,820,000 1,420,000
O[EX0HHI 400,000
ONADNISTHANL(2ASHKXF) EXOHLY
] 16,0002 * 25,000m 400,000
XSOl & Xl o) e 150,000 140,000 10,000
2 50,000
o= 50,000
7 = 50,000
XNeEolMES 150,000 140,000 10,000
2 50,000
< 50,000
iy 50,000
XS THE S ALY 150,000 140,000 10,000
z 50,000
< 50,000
= 50,000
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SN CR(EH) - NRAY - BES Arel e HlE2
307 212+01 A 150,000 140,000 10,000
& 50,000
= 50,000
= 50,000
02 QItF A2 X 150,000 140,000 10,000
Oet=2= AMSEAME A 2
150,000,000& = 14| 150,000
= 50,000
= 50,000
= 50,000
FHEZIMNH 891,701 ,081,645 A 189,944
FUEHFEEIXE 200,000 299,000 299,000
o= BE AE AL 200,000 299,000 299,000
402 BI2tX=01 & 200,000 299,000 A 99,000
01 QIIXI=2E X 200,000 299,000 299,000
Ogt=dl= 20,000,000& = 10= 200,000
EZ2S0ISAEAS 591,684 702,628 A 110,944
IIS3S0IEAME B 111,684 138,628 N26,944
201 fEt2dd| 1,144 1,144 0
01 AtR2telH] 1,044 1,044 0
Olger+gH] 540
oxZgy 288 ¢ 36,0003 * 104 360
OUI=ES0IESANEAE =T SAEX FHE
20,000 * 9 A 180
Ol=&l] 504
Olt=&as0IEAd Nzedl =&
7,000& = 221 » 3 * 123 504
02 2324l 100 100 0
Ool23e23 HIAl 100
OUISZES0EANEANY S2LS RER
250& * 4003 100
202 04| 540 540 0
01 LA 540 540 0
Obt=Z3S0I2AI4 EXI&C! o]
20,000& * 321 = 9 540
401 Al EHIZ 2OHY| 50,000 91,944 A41,944
01 A& HI 50,000 90,000 240,000
OlAI&HI] 50,000
OlI=ES0IEA4 EH
10,000,000& * 5= 50,000
402 QI 2tXH201 A 60,000 45,000 15,000
01 QItXI=E X 60,000 45,000 15,000
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M SAIDHE D

A F=HEANM

o AEUNP CERE
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
ORetA=2 N &= ol
20,000& * 221 » 8,998 » 123 4,320
setgExNzElNE 29 12,000 12,000 0
307 S12H0| & 12,000 12,000 0
02 QP AE X 12,000 12,000 0
OUstg a2z 2 (SAFAR L, Yst=sst
) 29X 500,000& * 294 = 12& 12,000
S 2Z2AE 22 670,000 1,044,880 A374,880
= 335,000
i 335,000
NEHERZ 670,000 1,044,880 A 374,880
= 335,000
[ 335,000
NEHEZ2HE 670,000 1,044,880 A 374,880
= 335,000
= 335,000
401 AIEHIZ 20 670,000 1,044,880 A 374,880
= 335,000
= 335,000
01 Al & Hl 665,779 1,041,215 A375,436
O[AlI&HI] 665,779
ONNMAEZIY 332,889,500 * 2.0km 665,779
= 332,890
= 332,889
03 A€ = 01| 4,221 3,665 556
OXNENEZ2MHE Al =20
670,000,000& = 0.63% 4,221
= 2,110
= 2,111
SAIOHE 14,324,958 19,591,592 Ab5,266,634
& 175,000
[ 14,149,958
SAAHE =™ 1,183,000 1,574,800 A 391,800
= 175,000
= 1,008,000
N7H2AH=E =& 600,000 1,283,800 A 683,800
201 B2 | 22,900 22,900 0
01 At 2teltl 22,900 22,900 0
Olgers=&Hl] 18,000
OZAHEYC M2ENE
1,350,000& * 294 = 53] 13,500
OZAIHEANALAY AAHEQI HEES
=Y R PN 135,000& * 103l 1,350
O JIRMEEX OIMEI| =5
135,000& * 20E X 2,700




M SAIDHE D
NI AN

Sl TAIHE 22 (25 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OHUARE PY(ELQ 4F)
90,000 * 5% 450
oleg+g] 4,900
OZAINE U BRG] HHLY
70,0009 * 991 * 7.7773] 4,900
202 04t 900 900 0
01 20l b 900 900 0
OXNTHDANE 4 SXEY
20,0002 * 101 * 452 900
203 Y L= Y| 10,000 10,000 0
03 AI& =R = X Y| 0,000 10,000 0
OZAl & A= REAY)
10,000,002 * 14} 10,000
207 AR 266,200 750,000 483,800
NEEEET 266,200 750,000 483,800
OZYBHANMIY 22N #B 2
266,200,002 * 14} 266,200
401 A2 HIL 20| 300,000 500,000 A200,000
01 Al&H| 300,000 500,000 £200,000
OlA&YI] 300,000
O0ILYBAEIXIEA 2XIEIT & X A
00,000,0002! * 14! 300,000
=MCIXHRl Al el LAY 583,000 291,000 292,000
= 175,000
= 408,000
401 A2 HIL 2O 583,000 291,000 292,000
= 175,000
= 408,000
01 Al&H] 583,000 291,000 292,000
O=MOIRQ A2l & ALY
583,000,000 * 14! 583,000
= 175,000
= 408,000
ENEEESS 500,000 100,000 400,000
CAZBEEAY 500,000 100,000 400,000
401 Al 2B 2T 500,000 100,000 400,000
01 Al&t] 500,000 100,000 400,000
OlA&YI] 500,000
OZAIZBBESAAE 100,000,000 * 1A 100,000
OMSBHYUENLK 2UBATY
50,0002 * 6,000 300,000
OME 23 FHSEX
100,000,008 * 141 100,000




M SAIDHE D
T AR

ool ATSSY (S5 &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Rz
LESSH 1,507,200 1,002,690 504,510
LESSEAY 1,507,200 1,002,690 504,510
401 Al HIL 2 TH I 1,507,200 1,002,690 504,510
01 Al&t] 1,500,000 996, 412 503,588
OlA &8I 1,500,000
0YYS ATSTHAY
1,500,000,0002 * 14! 1,500,000
03 Al& = ChH] 7,200 6,278 922
OYYS LESSLAY L2
2,000,000,000% * 0.36% 7,200
gy asE 500,000 0 500,000
Y AR E A 500,000 0 500,000
401 Al HIL 2 TH I 500,000 0 500,000
01 Al&t] 500,000 0 500,000
OlA &I 500,000
OJIBYMMENE (ZHBL~ZOISARE
) 147,058,60091 * 3.4kn 500,000
TAHE 2N ALS 3,754,818 1,011,293 2,743,525
oSN TANET 2N 1,243, 159 580,000 663, 159
401 Al EBIL 2 OB 1,243, 159 580,000 663, 159
01 Al&H| 1,236,344 576,346 659,998
Ol A& YI] 10,444
OLASLHR ARTRINHBA A& Y|
280,000,008 * 3.73% 10,444
OlEX LI 672,000
OLASLHR ARTRINLBA EXIILYI
500,000,008 * 14} 500,000
OPRE-HSCYLOIE CAHHZ2ZHA
DA EXIOHLH] 172,000,008 * 14! 172,000
OlAI&HI] 553,900
OSD-2H4H0E TAHLT2HE A
1,937,500,0002! * 0. 16Kkn 310,000
OSNIES NYZHAEITA
230,094,002 * 1.06kn 243,900
03 Al& 2 CHH] 6,815 3,654 3,161
OSDE-ZHHUE CAHLTZHEZAL A
EENE 885,000,008 * 0.63% 5,576
OPRC-HSCUYOME TAHYCRHLZ
NNEEATE] 172,000,008 * 0.72% 1,239
NBEAY CAHHC 2L 2,511,659 431,293 2,080,366
401 Al HIL 2 CH I 2,511,659 431,293 2,080,366
01 Al&t| 2,503,580 428,211 2,075,369




M SAIDHE D
NI AN

S CANECEHLAY (25 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
Ol& A& HI] 29,580
OMBEY TAHTZMEBDA A ALY
1,020,000,0002! * 2.9% 29,580
OlEX LI 1,474,000
OMBEBY TANTZHEBA EXMHAL]
1,200,000,0002! * 14! 1,200,000
OMEH(2BeD) NAYT2HEBA EXI0H
o 274,000,002 * 14 274,000
OlA&HI] 1,000,000
ONSH(STHD) NYEZHLBA
649,350,0008 * 0.77kn 500,000
O=E25M HAVYZZHEBA
2,083,333,0002 * 0.24kn 500,000
03 Al& 2 THHI 8,079 3,082 4,997
OUSH(STED) DYTEHLEBM AL
bl 1,244,000,0002! * 0.36% 4,479
025254 ARFATZNLTAL ALLUY)
500,000,008 * 0.72% 3,600
SADIBIAIE B3 936,685 284,293 652,392
CAHEER 22 34,885 34,885 0
201 Yere gt 4,885 4,885 0
01 At 22|t 1,350 1,350 0
ol2ztl] 1,350
SAHEERHE REF ST
1,350,0002 * 14! 1,350
02 T2 3,535 3,535 0
OlBZR2 % MAl 3,535
OSMZE SIIE 1,980 * 921 » 1652 X 2,941
oSIIws2 1,50021 * 1121 * 362X 594
401 Al B2 2 CH bl 30,000 30,000 0
03 Al& =2 ChH] 30,000 30,000 0
OSANHHSENE 2T - 5 - S)+4E
1,875,002 * 243/ Ak * 83l 30,000
SANEE X2 250,000 79,408 170,592
401 Al EHIL 2O HI 250,000 66,000 184,000
01 Al&H] 250,000 66,000 184,000
OANIIX ZHECH U AT 4
10,000,0002! * 10km 100,000
OADIX REQHH(EXAIE HHI
50,000,0002! * 14! 50,000
OLBE2 IM2I| U AT HY|
33,333,333% * 3kn 100,000
SANEE B 651,800 170,000 481,800




M SAIDHE D

I S ADNY

SRl TADIBHAIE &5 (e E2
SA- RO (3) - MEAY - BES 0l &k o Soe =2
401 A& HIZ 20HYI 651,800 170,000 481,800
01 Al &I 650,000 170,000 480,000
O[AlI&HI] 650,000
O0dYs TAMHEEZZ IMNRI|LEHIAL
78,431,300& + 5.1km 400,000
O3 Z 2MUXZ HXIS A
250,000,000& * 104 250,000
03 Al & 201 1,800 0 1,800
O[A &S] 1,800
0932 MUIZ EXSAE AIEL2UY|
250,000,000& * 0.72% 1,800
PNRS= P Rl N 4,633,112 3,624,265 1,008,847
FoU=RAY 2,071,592 2,085,145 A 13,553
401 Al HIZ 20HYI 2,071,592 2,084,305 A12,713
01 Al &I 2,060,000 2,076,900 A 16,900
O[&AIEAHH & s24Hbl] 20,000
OAARZ FOU=JAAY AAIEAHBI
20,000,000& * 14 20,000
O[Al&Hl] 2,040,000
OAAL F0U=JAAY 840,000,000 * 14] 840,000
Og9d &l MNUTZ 0LAE TMRIS A
50,000,000& * 14 50,000
OO0l HldOts =T AL
220,000,000& * 14 220,000
OAZE Ot T Z2EESAL
220,000,000& * 14 220,000
Odls HQEOIE ot &EHISA
160,000& * 125m 20,000
ONS &5 E2 FHISA
30,000,000 * 14 30,000
oYY &EH27 Hi=ZHHIS At
70,0003 * 428.57m 30,000
ogY =22 == HUBISAt
70,000& * 428.57m 30,000
Ots Y SZ2ZEZEIA
70,0003 * 428.57m 30,000
O&ts JtE s2EZE S At
70,0003 * 428.57m 30,000
O8d Hel s=Z2=ZTIA
70,000& * 428.57m 30,000
OE& HE s2Z&HBA
70,0003 = 428.57m 30,000
028 o&42cl s2EZEIA
70,0003 * 428.57m 30,000
033 82 i+ZHUISAH
70,0003 * 428.57m 30,000
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NI AN

S ENEPIITESE (e @
My c
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K @Egj HwsZ
OMEZ QBHY SROIARTHZA
70,0008 * 428.57m 30,000
OIS 0|H37 AICIS MY THUWSE
| 10,0002 * 300m 30,000
ONZE 2X2l SUlE S2TETA
70,0008 * 428.57m 30,000
OAE X2l 842 JHITBA
70,0008 * 428.57m 30,000
OLX sl IHlE s2EHSA
70,0008 * 428.57m 30,000
OSX Hp2 HHIS 42 HHIZA
70,0008 * 428.57m 30,000
OZAM B3DI-ALAMSHNN S2TF
A 70,0008 * 428.57m 30,000
OZA TIREH S2EIBA
70,0008 * 428.57m 30,000
OStAt 22012 B2 FHIB A
70,0008 * 428.57m 30,000
Ostah HAHOIS BHE2FHIBA
70,0008 * 428.57m 30,000
OME SADIZ 53X BHEZIHIZA
70,0008 * 428.57m 30,000
OME AE0IZ SREFIA
70,0008 * 428.57m 30,000
o0l 0I=0ts =2 FHIZ At
120,008 * 250m 30,000
00l YoI0t2 BN ZHIBA
30,000,008 * 14! 30,000
03 Al& S CHH| 11,592 7,405 4,187
OAAR FUSAAY AlLROHY
3,220,000,0008 * 0.36% 1,592
ZOIZBALY 2,561,520 1,539, 120 1,022,400
401 Al EHIL 20| 2,561,520 1,539, 120 1,022,400
01 Al Hl 2,556,000 1,533,600 1,022,400
OlAI&HI] 2,556,000
0A72 FOIZHALY
232,363,6002 * 11501 2,556,000
03 Al& S CHH| 5,520 5,520 0
OAAR FUSTAY AlLROHYI
1,533,333,0002 * 0.36% 5,520
ZOIHOAIS (EH AT 1,102,376 662,376 440,000
APDFQIH ALY 1,102,376 662,376 440,000
401 Al EHIL 20| 1,102,376 662,376 440,000
01 Al &bl 1,100,000 660,000 440,000
OLAI&HI] 1,100,000
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S AN
HH: APSMOIENY
Chel: SHATKSE A (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
01 Al&H] 4,862,585 0 4,862,585
O[AI&H] 4,862,585
OSHAFHATHAl DISZ &AL
4,862,585,000& * 14l 4,862,585
= 3,465,000
= 1,397,585
03 A& 201 13,165 0 13,165
OSMHATHX| OISSEIHLAIY AIZ2UHI
4,875,750,0002 * 0.27% 13, 165
MASSAI SEEH 3,475,000 0 3,475,000
2 2,086,000
= 1,389,000
401 A& YL 20| 3,475,000 0 3,475,000
2 2,086,000
= 1,389,000
01 Al&H] 3,465,617 0 3,465,617
O[AlI&HI] 3,465,617
OUSSATHAZE EHIALY
3,465,617,0002 » 14l 3,465,617
2 2,079,419
= 1,386,198
03 A& 201 9,383 0 9,383
OUSSATHXZSSHHIAY AL S0
3,475,000,000&4 * 0.27% 9,383
2 6,581
= 2,802
A= FHH| 4,992,858 0 4,992,858
2 3,495,000
[= 74,893
= 1,422,965
NEEA SENSESINLAY 690,000 0 690,000
2 483,000
[= 10,350
= 196,650
401 Al HIL 201 610,000 0 610,000
= 427,000
[= 9,150
= 173,850
01 Al&H 605,653 0 605,653
O[& A& HIHI] 70,000
ONESHYE SZ0ISZTE ML ALY A A& A
70,000,000 = {4l 70,000
2 49,000
[= 1,050
= 19,950
O[EXIHHI] 50,000




M SAIDHE D
I AU MO ENY
ool HAHSEEYI EEEEE]
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
ONSHEE SE0ISSEMEAME EXI0HLHI
50,000,000& * 14 50,000
& 35,000
& 750
= 14,250
OTlAI&HI] 485,653
ONSHS sZENSSEMNE MY
485,653,000& * 14 485,653
& 339,957
& 7,287
= 138,409
03 A& = 01| 4,347 0 4,347
ONSHS =ENSTEMNMLAMY AU
690,000,000& * 0.63% 4,347
= 3,043
& 63
i 1,241
402 QI2E X201 ™ 80,000 0 80,000
= 56,000
& 1,200
i 22,800
02 SI2tCHEE AR I 80,000 0 80,000
ONSHS =Z=0ISSEMNL ALY S/W
80,000,000& * 14 80,000
= 56,000
L= 1,200
= 22,800
MEHHE SENSSEMNLAY 828,572 0 828,572
= 580,000
& 12,429
= 236,143
402 QI2E X201 ™ 828,572 0 828,572
= 580,000
& 12,429
= 236, 143
02 SIZtCHEE A I 828,572 0 828,572
OUZ HHES SENSSENL A
643,752,000& * 14 643,752
= 450,626
& 9,657
= 183,469
OulE HMEiE SE0ISSEMLAS S/W
101,600,000& * 14 101,600
= 71,120
& 1,524
= 28,956
OXIE MO E sZE0ISSEIHEAY Zeld]
78,000,000& * 14 78,000
= 54,600
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Sl HeICRIZE I (S5 &)
” 5. CHOl (3 - - e =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
< 1,170
2 22,230
OUE HMHS SEOISSENHLAY ALY
b 828,571,008 * 0.63% 5,220
=l 3,654
= 78
2 1,488
SFYAY SEUSTENL AL 1,637, 143 0 1,637, 143
=l 1,146,000
& 24,557
= 466,586
401 A2 HIL 2O 5,893 0 5,893
=l 4,126
= 83
2 1,679
03 Al& 2 ChH] 5,893 0 5,893
OB5Y SZNSSSHLALY ALRHY
1,636,900,0002 * 0.36% 5,893
=l 4,126
= 83
= 1,679
402 212t R 20| 1,631,250 0 1,631,250
=l 1,141,874
= 24,469
2 464,907
02 QI2HCH S AL 1,631,250 0 1,631,250
OB5Y SZ0SESHLAL
1,417,250,0002 * 14! 1,417,250
= 992,074
= 21,259
2 403,917
OS5 =Z=0SSSHLAL S/N
179,000,008 * 141 179,000
= 125,300
= 2,685
2 51,015
OSSY sE0SSSNHLAY 22yl
35,000,000 * 14! 35,000
=l 24,500
& 525
= 9,975
LT SENSEENLAIY 1,008,571 0 1,008,571
=l 706,000
= 15,128
2 287,443
401 Al EHIL 2O HI 6,354 0 6,354
=l 4,448
= %5
2 1,811
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